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��ก
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���
��������� 
 

ก�������	
�ก�
ก���ก��������������	�ก�����ก���ก��
�������� !"��#��  ��$%!"  
!�&��'(���#���!�#�  ')�������ก�����	�*���+��,-ก.��/��%  2  ��1��*"��*  2����
���)��'�!2#ก��
���1����� �!��#3��  ��"��* 

1. '��#�ก.6���%�	���ก�����1����� �!��# 
2.  �*�&!�ก���)��'�!2#ก�����1����� �!��# 
3. 2#ก�����1����� �!��# 

 
1.  �����ก������� ��!ก
��
���
��������� 

  n       ���     
)����ก#
(�&��!�(�" 
          X       ���     1(��9#�%� 
 S.D.  ���     '(�����%�"�����&�<�� 
 E

1
  ���     ���'��+�>�� !"ก�����ก�� 

 E
2

  ���     ���'��+�>�� !"2##��+� 
 t  ���     '@�&���'!��� 
 *  ���     ��������')�1����"'@�&���%  .05 
 D  ���     1����2#&(�"����(�"ก(!��#�1�����#�"����� 
 D   ���     1(��9#�%� !"1����2#&(�" 
 SDD  ���     '(�����%�"�����&�<�� !"1����2#&(�" 
 %  of  mean ���     ��!�#� !"1(��9#�%� 

 
2.  ��#!$�!ก
�!%
��!���ก
��
���
���  �&'!(�)!�# 

 �*�&!���%  1  2#ก��'���"�#�&��
'!����'��+�>�� !"	
�ก�
ก���ก��������������	�
ก�����ก���ก��
�������� !"��#��  ��$%!"  !�&��'(���#���!�#�  ')�������ก�����	�*���+�� 
,-ก.��/��%  2  &���ก6J�  75/75 
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 �*�&!���%  2  2#ก���	�	
�ก�
ก���ก��������������	�ก�����ก���ก��
�������� !"    
��#��  ��$%!"  !�&��'(���#���!�#�  ')�������ก�����	�*���+��,-ก.��/��%  2  
)���ก��O� 

2.1 2#ก�������������1���'����@ก���ก��
��������16�&,�'&�� !"��ก�����
	�*���+��,-ก.��/��%   2  ����(�"ก(!��#��#�"ก�����������	�	
�ก�
ก���ก���������� ����	�
ก�����ก���ก��
�������� !"��#��  ��$%!"  !�&��'(���#���!�#�  ')�������ก�����	�*���+�� 
,-ก.��/��%  2   

2.2 2#ก�������������1���'����@ก���ก��
��������16�&,�'&�� !"��ก�����
	�*���+��,-ก.��/��%  2  >���#�"ก�����������	�	
�ก�
ก���ก��������������	�ก�����ก���ก��
���
����� !"��#��  ��$%!"  !�&��'(���#���!�#�  ')�������ก�����	�*���+��,-ก.��/��%  2  ก���ก6J�
��!�#�  75 

 �*�&!���%  3  ก���������	
�ก�
ก���ก��������������	�ก�����ก���ก��
�������� !"
��#��  ��$%!"  !�&��'(���#���!�#�  ')�������ก�����	�*���+��,-ก.��/��%  2 
 
3.  ��ก
��
���
���������  �)��'�!��"��* 

$�!���  1  ��ก
����
)+��$��,���&���
�-
.
/��) 0(ก
,ก���ก
����1!���2(1
� �ก����!ก
�+ก�2,�1�&3��
��)2/�1
  ��4��)  ��$�
�5�!+�����1��  �%
����!�ก���1!
 �#!��-1�67ก�
&8��� 2  $
��ก�9�  75/75  ��2#��"&(!3���* 

1.1  2#ก��'���"	
�ก�
ก���ก��������������	�ก�����ก���ก��
�������� !"��#��  
��$%!"  !�&��'(���#���!�#�  ')�������ก�����	�*���+��,-ก.��/��%  2  ��1��*"��*  �)����3��	
�ก�
ก���
ก��������������	�ก�����ก���ก��
�������� !"��#��  ��$%!"  !�&��'(���#���!�#�  ')�����
��ก�����	�*���+��,-ก.��/��%  2  
)����  6  	
�  1$!   
 	
�ก�
ก���ก������������%  1  ��$%!"  !�&��'(��           ��#�  1  	�%���" 
 	
�ก�
ก���ก������������%  2  ��$%!"  !�&��'(����%��(�ก��          ��#�  2  	�%���" 
 	
�ก�
ก���ก������������%  3   ��$%!"  !�&��'(�� !"
)�����#��P 
)����       ��#�  2  	�%���" 
 	
�ก�
ก���ก������������%  4   ��$%!"  '��'(��           ��#�  4  	�%���" 
 	
�ก�
ก���ก������������%  5   ��$%!"  ��!�#�           ��#�  5  	�%���" 
 	
�ก�
ก���ก������������%  6   ��$%!"  ก���)�!�&���#���!�#�3��	�        ��#�  2  	�%���" 
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1.2 2#ก��&��
'!����'��+�>������1��������'� !"	
�ก�
ก���ก��������������	�
ก�����ก���ก��
�������� !"��#��  ��$%!"  !�&��'(���#���!�#�  ')�������ก�����	�*���+�� 
,-ก.��/��%  2  &��1���1����R� !"2���	�%��	��  
)����  3  1�  ���กS2#��"&���"  ��"��* 
 
$
�
) 5 +�()��ก
�&����
!��
����
�����)�)��&��ก��$5
)= ��) 0(ก
,ก���              
            ก
����1!���2(1� �ก����!ก
�+ก�2,�1�&3��
��)2/�1
  ��4��)  ��$�
�5�! 
            +�����1��  �%
����!�ก���1! �#!��-1�67ก�
&8���  2   

 

��% ���ก�� 
n = 3 

X  S.D. 
�����1���
�����'� 

1 �%
 �#+,)�!ก
�� � 0(ก
,ก���ก
����1!���    
 1.1  '$%!1�������	���
�� ���
"(�� 4.33 0.58 ��ก 
 1.2  1)�����)���ก���	�	
�ก�
ก���ก����������	���
� 4.33 0.58 ��ก 
 �9#�%� 4.33 0.58 ��ก 
2 ��5�4����    
 2.1  ก)��������� !"1��2��'!�3��	���
� 4.00 0.00 ��ก 
 2.2  ก)����'�%"��%1��2��'!�&�!"�&����3��	���
� 4.33 0.58 ��ก 
 2.3  ก)�������#��!��� !"��$*!��3��1�!�1#
� 5.00 0.00 ��ก��%'
� 
 �9#�%� 4.44 0.19 ��ก 
3 +�!ก
�,�(ก
����1!���    

 3.1  ��

����'"1�ก����������	���
�'����@�����  
       2�������  ��$%!������#


����'"1�ก������������%  
       ก)����3�� 4.67 0.58 ��ก��%'
� 

 3.2  ก�
ก���ก����������'("�'������2����������1������
���   
       �����3��!�(�"��O����� 4.33 0.58 ��ก 
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$
�
) 5 ($5�) 
 

��% ���ก�� 

n = 3 

X  S.D. 
�����1���
�����'� 

 
3.3  ก�
ก���ก����������'("�'������2��������	�ก�����ก��1�� 
       �ก������3��!�(�"�����R� 

 
4.67 

 
0.58 

 
��ก��%'
� 

 
3.4  ก�
ก���ก����������'("�'������2��������	�ก�����ก���ก� 

  �
��������  ��"�2��ก������  �#��'�"��+�ก�� 
       ��1)�&!�3��@�ก&�!" 4.33 0.58 ��ก 

 
3.5  ก)������+�ก�����2#�#��������2#'!�1#�!"ก��  
       

����'"1�ก�����������#�ก�
ก���ก���������� 4.33 0.58 ��ก 

 �9#�%� 4.47 0.46 ��ก 

4 +��@Aก��(����5
)���1!    

 
4.1   �*�&!�ก���ก��
�������� 

(1)  '("�'������2����������1������
���3��"(���#���O�    
             ����&�� �*�&!�ก���ก��
�������� !" Polya 

 
4.67 

 
0.58 

 
��ก��%'
� 

 
       (2)  '("�'������2��������	�ก�����ก��1���#���"�2� 
              �ก��
��������3��!�(�"@�ก&�!"   4.33 0.58 ��ก 

 
       (3)  '("�'������2�������3�������1���1��'����@ 

 '���"!"1�1������3������&��!" 4.00 0.00 ��ก 
        (4)  ��ก��[\กก���ก��
�������� 5.00 0.00 ��ก��%'
� 

 
4.2  ��$*!��  

  (1)  ��1���'!�1#�!"ก��

����'"1�ก���������� 
 

4.67 
 

0.58 
 

��ก��%'
� 
        (2)  �����ก������#�1���'��
 !"2������� 5.00 0.00 ��ก��%'
� 
        (3)  ��1�����ก"(���!����� 4.33 0.58 ��ก 
        (4)  ��1��������'�ก����#� 4.33 0.58 ��ก 
        (5)  ����"#)����
�ก"(��3�����ก 4.67 0.58 ��ก��%'
� 
                �9#�%� 4.56 0.19 ��ก��%'
� 
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$
�
) 5 ($5�) 
 

��% ���ก�� 

n = 3 

X  S.D. 
�����1���
�����'� 

5 ก
���(+��&����
!�� 
5.1  �������"�������2#1���'����@ก���ก� 
       �
����������%	���
� 

 
 

3.67 

 
 

0.58 

 
 

��ก 

 
5.2  �������"�������2#1���'����@ก���ก��
��� 
       �����@�ก&�!"&���#�ก��	�ก�� 

 
4.00 

 
0.00 

 
��ก 

 
5.3  ���1�"'���" !"�����'!����1���'����@ก�� 

�ก��
����������1��������'� 4.33 0.58 ��ก 

 5.4  �����'!���1
6>���(��	$%!@$! 3.67 0.58 ��ก 

                     �9#�%� 3.94 0.14 ��ก 
             ����9#�%� 4.39 0.16 ��ก 

 

�ก&���"  5  ���(�  2#ก���������1��������'���!"1����ก!�&(�"P   !"	
�ก�
ก���

ก��������������	�ก�����ก���ก��
�������� !"��#��  ��$%!"  !�&��'(���#���!�#�  ')�����
��ก�����	�*���+��,-ก.��/��%  2  &��1���1����R� !"2���	�%��	��  
)����  3  �(��  ���>�������
1��������'����������ก  ��1(��9#�%���(�ก��  4.39  ��$%!��
��6��&(#��������(�  ������%��1���
�����'�'�"'
�1$!  �������[\ก�������(�"�����  ��1(��9#�%���(�ก��  4.56  �!"#"��1$!  �����2�ก��

��ก���������� ��1(��9#�%���(�ก��  4.47  �#�������%��1��������'�&%)�'
�1$!  ���������'!����
1���'����@ก���ก��
��������  ��1(��9#�%���(�ก��  3.94 

1.3  2#ก��&��
'!����'��+�>�� !"	
�ก�
ก���ก��������������	�ก�����ก���ก��
���
����� !"��#��  ��$%!"  !�&��'(���#���!�#� ')�������ก�����	�*���+��,-ก.��/��%  2  &���ก6J�  
75/75  2#���กS��"&���"  6  �#�  7  ��"��* 
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$
�
) 6 +�()��ก
�$��,���&���
�-
.
/��) 0(ก
,ก���ก
����1!���2(1� �ก����!  
            ก
�+ก�2,�1�&3��
��)2/�1
  ��4��)  ��$�
�5�!+�����1�� �%
����!�ก���1! 
             �#!��-1�67ก�
&8���  2  $
��ก�9�  75/75  ก��!�ก���1!  ,%
!�!  9  �!   
 

��!�#� !"1�����9#�%���ก���)����[\ก���
����(�"���������	�	
�ก�
ก���ก���������� 

��!�#� !"1�����9#�%���ก���)������'!� 
�#�"���������	�	
�ก�
ก���ก���������� 

	
���% 
1 

	
���% 
2 

	
���% 
3 

	
���% 
4 

	
���% 
5 

	
���% 
6 78.52 

81.67 80.37 83.33 84.67 83.33 86.34 
���'��+�>�� !"ก�����ก��  =  83.67 ���'��+�>�� !"2##��+�   =  78.52 

E1 / E2   =  83.67/78.52 
 


�ก&���" 6  ���(�	
�ก�
ก���ก��������������	�ก�����ก���ก��
�������� !"��#��  
��$%!"  !�&��'(���#���!�#�  ')�������ก�����	�*���+��,-ก.��/��%  2  �����'��+�>��ก�����ก��
��(�ก��  83.67  �#������'��+�>��2##��+���(�ก��  78.52  �'�"�(�	
�ก�
ก���ก������������
���'��+�>����(�ก��  83.67/78.52  ]-%"'�"ก�(��ก6J���%&�*"3�� 

 

$
�
) 7 +�()��ก
�$��,���&���
�-
.
/��) 0(ก
,ก���ก
����1!���2(1� �ก����!  
            ก
�+ก�2,�1�&3��
��)2/�1
  ��4��)  ��$�
�5�!+�����1�� �%
����!�ก���1! 
             �#!��-1�67ก�
&8���  2  $
��ก�9�  75/75  ก��!�ก���1!  ,%
!�!  30  �! 
 

��!�#� !"1�����9#�%���ก���)����[\ก���
����(�"���������	�	
�ก�
ก���ก���������� 

��!�#� !"1�����9#�%���ก���)������'!� 
�#�"���������	�	
�ก�
ก���ก���������� 

	
���% 
1 

	
���% 
2 

	
���% 
3 

	
���% 
4 

	
���% 
5 

	
���% 
6 79.44 

81.50 80.44 87.33 81.47 83.50 80.58 
���'��+�>�� !"ก�����ก��  =  82.13 ���'��+�>�� !"2##��+�   =  79.44 

E1 / E2   =  82.13/79.44 
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�ก&���" 7  ���(�	
�ก�
ก���ก��������������	�ก�����ก���ก��
�������� !"��#��  
��$%!"  !�&��'(���#���!�#�  ')�������ก�����	�*���+��,-ก.��/��%  2  ��>����������'��+�>��
ก�����ก����(�ก��  82.13  �#������'��+�>��2##��+���(�ก��  79.44  �'�"�(�	
�ก�
ก���ก����������
�����'��+�>����(�ก��  82.13/79.44  ]-%"'�"ก�(��ก6J���%&�*"3�� 

 
$�!���  2  ��ก
�� � 0(ก
,ก���ก
����1!���2(1� �ก����!ก
�+ก�2,�1�&3��


��)2/�1
  ��4��)  ��$�
�5�!+�����1�� �%
����!�ก���1! �#!��-1�67ก�
&8��� 2  
)���ก��O� 

2.1  2#ก�������������1���'����@ก���ก��
��������16�&,�'&�� !"��ก�����	�*� 
��+��,-ก.��/��%  2  ����(�"ก(!��#��#�"ก�����������	�	
�ก�
ก���ก��������������	�ก�����ก��
�ก��
�������� !"��#��  ��$%!"  !�&��'(���#���!�#�  ')�������ก�����	�*���+��,-ก.��/��%  2  2#
���กS��"&���"  8 

 
$
�
)��� 8 +�()�5
�F���1  �5�!����1)��!�
$�G
!  �5
�H
$
�(�����  +����(��!�1�%
���

�
)�H
$
��)ก
��(����&��1����1���+!!���ก5�!+�����)���1!��)
!�ก���1! �#!��-1�67ก�
&8��� 2  (n = 30) 

 

ก����'!� n 
X  S.D. 

D  S.D.
D

 t Sig 
ก(!������ 30 17.60 3.59 

6.47 1.07 32.97 * 0.00 
�#�"����� 30 24.07 2.98 

 

* �����1���')�1����"'@�&���%����� .05 
 


�ก&���" 8  ���(�  1���'����@ก���ก��
��������16�&,�'&�� !"��ก�����	�*�
��+��,-ก.��/��%  2  ก(!�������#��#�"�����  ��1�����9#�%���(�ก��  17.60  1����  �#�  24.07  
1����  &��#)����  �#���$%!���������������(�"1����ก(!��#��#�"�����  ���(�  1����'!��#�"
����� !"��ก�����'�"ก�(�ก(!������!�(�"�����')�1����"'@�&���%�����  .05 

2.2  2#ก�������������1���'����@ก���ก��
��������16�&,�'&�� !"��ก�����    
	�*���+��,-ก.��/��% 2  �#�"���������	�	
�ก�
ก���ก��������������	�ก�����ก���ก��
�������� !"
��#��  ��$%!"  !�&��'(���#���!�#�  ')�������ก�����	�*���+��,-ก.��/��%  2  2#���กS��"&���"  9 
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$
�
)��� 9 +�()�5
�F���1  �5�!����1)��!�
$�G
!  �5
�H
$
�(�����  +����(��!�1�%
���
�
)�H
$
��)ก
��(����&��1����1��ก�9����1��  75  ก����+!!���     
���)���1!��)!�ก���1! �#!��-1�67ก�
&8��� 2  (n = 30) 

 

ก����'!� n 1�����&R� 
X  S.D. % of  mean t Sig (1-tailed) 

�#�"����� 30 30 24.07 2.98 80.22 2.88* 0.00 
 

* �����1���')�1����"'@�&���%����� .05 
 


�ก&���" 9  ���(�  1���'����@ก���ก��
��������16�&,�'&�� !"��ก�����	�*�
��+��,-ก.��/��%  2  �#�"�����  ��1�����9#�%���(�ก��  24.07  1����  1����O���!�#�  80.22  �#�
��$%!���������������(�"�ก6J�ก��1����'!��#�"����� !"��ก�����  ���(�  1����'!��#�"�����
 !"��ก�����	�*���+��,-ก.��/��%  2  '�"ก�(��ก6J�!�(�"�����')�1����"'@�&���%�����  .05 
 

$�!���  3  ��ก
�&����
! 0(ก
,ก���ก
����1!���2(1� �ก����!ก
�+ก�2,�1�
&3��
��)2/�1
  ��4��)  ��$�
�5�!+�����1�� �%
����!�ก���1! �#!��-1�67ก�
&8��� 2  
�)��'�!��"��* 
 

$
�
)��� 10  ��ก
�&����
! 0(ก
,ก���ก
����1!���2(1� �ก����!ก
�+ก�2,�1�&3��
��) 
       2/�1
  ��4��)  ��$�
�5�!+�����1��  �%
����!�ก���1! �#!��-1� 67ก�
&8���  2   
       $
���
��
(��K!��)!�ก���1! 

 

���ก�� 
X  SD. ��#2# 

1.  (�
!&3,,�1!%
���
 
     1.1  	
�ก�
ก�����1����#�ก�#���(�'��
'����@    
            �)�3��	�3��
��" 

 
4.57 

 
0.77 

 
��ก��%'
� 

     1.2  ��$*!����%ก)������	
�ก�
ก��������'�	���
� 4.57 0.50 ��ก��%'
� 
2.  (�
!ก����!ก
� 
      2.1  ก�
ก���'("�'������2�������3�����
�ก1��  ���1����� 
             �#�[\ก��ก.� 

 
4.50 

 
0.63 

 
��ก��%'
� 

      2.2  ก�
ก����)����2����������
�ก��"�2��#�ก���ก������ 4.70 0.60 ��ก��%'
� 
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$
�
) 10 ($5�) 
 

���ก�� 
X  SD. ��#2# 

      2.3  ก�
ก����� �*�&!�����"#)����
�ก"(��3�����ก   
             '����@�S���&�3�� 

4.37 0.76 ��ก 

3.  (�
!����
$ 
     3.1  ��ก�������1���'����@��ก��!(��  �)�1��� 
            � ���
�
��������3���� -*� 

 
4.53 

 
0.57 

 
��ก��%'
� 

     3.2  ��ก�������1���'����@��ก�����1������
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